Perimeter=L+L+W+ W Perimeter=L+L+W+W

=( xL)+( xXW) 4&m =(xL)+( xW)
3m =(x m)+( x m) =(x cm)+( X cm)
5 m = m + m 3 e = cm + c¢cm
Area=LxW Area=LxW
= m X m i cmx cm
= mz = cm?
Perimeter =L + L+ W +W Perimeter=L+L+W+ W
=(xL)+( xW) ol | [ =[( XL} +[( X W)
4cm =(x cm)+( x cm) 6m =X ) ( 3 m)
= cm + cm = mTm
6 cm = em - 4.
g4 | L | A =
Area=LxW i il s s
= mx m
= cmXx cm
= 2
= cm? m
3m 15 m
5m 20 m
Perimeter= m Area= m? Perimeter = m Area = m2
S5cm 50 cm
7cm 70cm
Perimeter= cm Area= cm? Perimeter = cm Area= cmz?
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